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All Questions are compulsory and each question is of 7 mark.

qH qrqrql C.rarati dt ffi it oidrq? araarral cru * r

only English version is valid in case of dffirence in both the languages.

1. TIIrtraktrIT: zr{q sre{rq ii tllqdi +r frryur

El-drt
(a) +s, srq{ q \E+q+
(b) fu, taeffrq{
(c) 6iT{, fa q\rffi
(d) *e fdnqqatrr*

,arerq ii siq{ fuqkq firarqr qnr

fiq-+ir{+fli{q
ffitrdr+frq
Tdrqcqq +frq
+{Tfi

fficrEq sr*{rc it uqaTt +t qr*r t
(a) 6% Sn 15% Sb &79%Pb
(b) 8% Sn 20% Sb &7Lo/oPb
(c) 10% Sn 30olo Sb & 60% Pb

(d) 7o/"Sn 13% Sb & 80% Pb

l. Commonly qrpe alloY is the
combination of metals

(a) Pb, Cu & Sb

O) Pb, Sn & Cu
(c) Cu, Sn & Sb

(d) Pb, Sn & Sb

2. Why copper is added to tYPe alloY ?

(a) Smoothness

O) Hardness

(c) Softness

(d) None

3. Quantity of metals in monotype alloy
is
(a) 6% Sn 15% Sb &7f/oPb
(b) 8% Sn 20% Sb &lzohPb
(c) l0% Sn 30% Sb &60%Pb
(d) 7YoSn13%Sb&80%Pb

2. z[{q
tt
(a)

o)
(c)

(d)

3.

(1) P.T.O.
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4. t* qfrfqvn sEqftrd t
(a) firnt
O) dqr{s qs{ t
(c) tq{*
(d) 6ttTS

5. Bcr$ +.ci-ii qqr-1;dr drrqm +t mc
6mlqrq
(a) eufar qgmr t r

(b) atfu tr?ikd rqar t r

(c) elrfrar *,c o,rar t r

(d) B,r{-dd ii t st+T6T

G. Bqrt t T4 tr{ v,r erql.tffi{ 6lin
slqgqant srrTefl {6-

(a) qFaroqr$otqt 
r

(b) eBqr ilrt 6t'n r

(c) 3Trfidr {6rarn I

(d) qt+Tfi

ot, qqt+ro t
(a) fiF-€ +
(b) +et
(c) qq{t

(d) dr t

qitko, emFTzr-sr srk'r +frqt
(a) sc{ff
(b) srmr*T

(c) ffi + fuq €rftro, ilqqn q+
errqwrffirt r

(d) qi$Tfi

7.

8.

(2) 2199

Grain direction is related to

(a) Film

O) Bromide paper

(c) Paper

(d) None

Use of air coolers in printing room

can lower the temperature but can

(a) Increase R.H.

O) Maintain R.H.

(c) Reduce R.H.

(d) None of the above

Before printing seasoning of paper is

necessary otherwise it

(a) Deteriorate printing quality

O) Good printing quality

(c) lncrease R.H.

(d) None

GSM is related to

(a) Film

(b) Plate

(c) Paper

(d) Screen

Eutectic alloy is for casting the tlpe

(a) Suitable

(b) Unsuitable

(c) Require more temperature to
melt

(d) None

4.

5.

6.

7.

8.
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' s. SC Gu) *.,rrqi+,,tr€t

(a) 327 "C

(b) 3s2"C

(c) 320 oC

(d) 375 "C

to. rcd+,Gw+ s) qrrt rtt{fir+t

(a) mrqs

(b) m{s

(c) ffiFnq

(d) +iTfi

11. sr& ii frrrrt{-{ Cr'il-+) *.wr or{ t t

(a) gqtcr

o) rn6rr{

(c) t'TiqT

(d) qrtftT

rz. sffi st ffifire Cn6rr+t €r$ -tfirsr

f+lrfr t
(a) am*t ii
(b) fiddvrr it

(c) dEqrt{
(d) dmwrit

13. trrfu Crwo; tos 6q ii qrn qd t t
(a) Blq

(b) tffi++

(c) qirs{

(d) Et{Tdt

2199

Melting point of lead (Pb) is

(a) 327 "C

(b) 3s2"c

(c) 320'C

(d) 375"C

Unit of measurement of viscosity of

ink is

(a) Ponds

O) Poise

(c) Kilogram

(d) None

What is the role of Pigments in ink ?

(a) Dry

O) Viscosity

(c) Colour

(d) None

Viscosity of ink play a vital role in

G) Half tone

O) Reflection

(c) Good printing

(d) Solution making

In what form the Pigments are

available ?

(a) Solid

(b) Solution

(c) Powder

(d) None

P.T.O.

(3)

9.

10.

11.

t2.

13.

!
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14. +qr& ii +ffi +1wr {firsr t ?

(a) gtqrf t
(b) qrfu+ it
(c) srdrdE

(d) st$ Tfi

1s. sd itsilsr€BtmT 1|q61 fi 7

(a) *ffi
(b) qqri t
(c) qrBr+ tt
(d) +ti6T

16. ,hd daqB.qr {qfu t
(a) de{+sg{'rt
(b) efcr+c Trur *'
(c) rftt{ ftfu'r t
(d) +tftT

17. tc{+t *,qrqfrrovfist
(a) clcFt

(b) wi+tarw
(c) d_{i st sftR}r+,qTrdr

(d) gst eft wmr

18. sfr{ftqqs{knqrer.nt
(a) {sr+ +fuq
(b) {r6msq6{++frq
(c) rn6ttt:T*,li+ftTq

(d) st'tTfi

19. s{hs +caqqhr if dqrfr t
(a) +c{ +€ g<ur {
(b) Fffidgnr{
(c) ofr$nzg{'r ii
(d) 6t$Tfi

14. What is the role of vehicles in ink ? -
(a) Dry

(b) Viscosity

(c) Solvent

(d) None

15. What is the role of Cobalt in ink ?

(a) Solvent

(b) Drier

(c) Tackiness

(d) None

16. Wet plate process is related to

(a) Letter press printing

(b) Offset printing

(c) Screen printing

(d) None

17. Cheryrical testing of paper is

(a) Weight

(b) Busting strength

(c) Pickresistance

(d) Folding endurance

18. Reducer is added in ink to
(a) Dry

(b) Reduce tackines
(c) Increase tackiness

(d) None

19. Surface plate is used in

(a) Letter Press Printing

(b) Intaglio Printing
(c) Offset Printing
(d) None

(4) 2199
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20. dis d{qis riqrr frr t
(a) oTr#+q t
(b) H't
(c) iffir+tls+{ t
(d) Bt{t

21. tw #fr.\'€.w +t rrurtr +1 w sd t
W 500 x 1407.4(a) --H-rtq-d-
qi ffl ih " t+oz.+(b, w5oo

qi€qif x w soo

i

.:

.

\zz.
\

(c)

(d)

t407.4

rN1.4
w s00 * eh Gq itl

\

srisffiasqqrH{q++qilq qm

tt
(a) qd{dr
(b) q{rftffir

(c) *.w GlH)

(d) sq{-ffiT'fr

slEIpH+ddf{dfidrT
(a) qtr
(b) qTrfo

(c) s{r+{
(d) Bqtn st

Ett[pH zdd66+ittn
(a) qdc
(b) eTrfrq

(c) E(rft
(d) B{tffiq}ft

23.

24.

_.t'--

(s) 2199

20- Lens flare defect causedby

(a) Arc lamp

O) Camera

(c) Uncoated lens

(d) Screen

21. GSM of paper can be calculated by

W 500 x 1407.4
(a)

o)

(c)

(d)

A inch

A (inch) x 1407.4
w 500

A(inch)xW500
1407.4

t407.4

23.

W500xA(inch)

Dye-tmpregnated PaPer is used to

measure

(a) Acidity

(b) AlkalinitY

(c) pH

(d) All of the above

When pH is 4 the solution will be

(a) Acidic

(b) Alkaline

(c) Neuhal

(d) Atl of the above

When pH is 7 the solution will be

(a) Acidic

O) Alkaline

(c) Neutral

(d) All of the above

P.T.O.

24.

i

22.
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2s. {IrEIrqfuo+++t pn d*t
(a) s (b) 3

(c) 7 (d) e

26. fuffi*Tfoqrqt
(a) vr+qqr=nfi enc{itEr*}t r

(b) cr* \'d srfi enq{ ii ft+qqt t r

(c) vr+ ga erfr qrq-srr or{ mri t r

(d) Bq{ffiitt+*T6T

27. furft+{urt*qrqrert
(a) tmaqa;gt6
(b) treqie*.em
(c) E+Sfir#{FT *'qrii
(d) +tt Tfi

zB. {FFrFr traq{fu{Adr t
(a) qri *'c
(b) qcqc

(c) rer*tr
(d) 6tiT6T

29. dz + ilr-E+q wra +i effiffie
toqrqrort
(a) qld|Hrnsr

(b) erd arn+r
(c) tikAem. c,rrntrT

(d) st'* qET

30. effiag{ur ii vrfr Eht Tksr t
G) *.rW+t
(b) ii-{-qtq * $q ftt
(c) +T'rq rkor o.{+ ftt
(d) sttftT

2199

25. pH of neutral solution is

(a) 5 (u) E

(c) 7 (d) e

26. Principle of LithograPhY is

(a) water and ink rePel each other

O) water and ink stick

(") water and ink work together

(d) none of the above

27. Fixation is done

(a) Before development

(b) After dwelopment

(c) Afterintensification

(d) None ,l

28. Matter on surface plate is i
(a) Readable

(b) Non-Readable

(c) Reverse

(d) None

29. None image area of a plate is made
desensitise by +plyrng
(a) Water

(b) Ink

(c) Gum solution

(d) None

30. Roll of water in offset printing is

(a) Matter printing

O) Non-Image printing

(c) To wet the paper

(d) None

(6)

\r
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dt ' O wttryr?t qffit dryCC.Hf fu*uar#H. I
Notc : Question No. 1 is compulsory, answer anyftve questionsfrom the remaining.

(ii) eA€ew#TF# qT,Tl fi) firnv qq€M ra dfqq t
Solve all parts of a question consecutively together.

. (iit) sdr.ew +irdysdrner q?fq{ r
r. ,Srart each question on afresh page.

(w) EiaimqrcilC.:mrali alMdi qAE? q?r,6Tv,a{ 
1

Only English version is valid in case of dffirence in both the languages.

t. ffifuo dr {fr{E i[ srrsr{i,
Explain the following in brief :

(i) ql-qn
Dross

(ii) lqs qrE

Tlpe Alloy
(iii) €Hq+fufi

Fountain Solution
(iv) c$qqd$

Multi Metal Plates

(v) 'h$+c
Wet Plate

PR302

Frq{frmtrsrq , *r{t I
Time allowed : Three lloursl

2016

PRINTING SCIENCE

Roll No. :

tqfuaqsia., zo
[Maximum Marks : 70

(2x5)

(9+3)

P.T.O.

eilq{, qqftfrqtT qq fu*.' *rE +.JUil 6} {Tff1-5n r q-qftfrqq tn{ Hr Erur it q1 3ffi1 } r
Explain properties of Copper, Aluminium and Zinc metal. What is use of Aluminium
metal in printing ?

(7)

2199
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2199 Part-Il

pR302 .,uq*d qrsea r THjffi ffi:X#I,9.I;u,o 
i" n'"fr**n)

3' {#rq{ f,X*, oshumidity 
on Pr

ExPlain the etl

roogl ? ,,nrrii t;sfrti t46r{t ftEq t

4. *quffi*Str*ffi*ffi *l"n*' used in n"%'*'

ExPlain rn'

manufactunng'

< taqunqggSqq 'r' 
e*Ptoi" the following:

o' qrrEl rttql46

Time gamma curve

(ii\ r+rqfrq-f{qaga

6 **iH * T^Tflil.fl,,ffiH 
Tffiffi :;"

What is imPortance^of 
water rn

1 ;*:X :ffiT* 
i(ffirq*o 6I qot{ nqq I

Explain 'n*"' 
inks' Describ" Jliirir*testt ror qt'atitv contol'

8. 3.*afirrotodq"rdq$'
Explain *I*' t"t"m of densitometer 

with diagram'

of PH in- 
10+6)

(6+6)

(4+t)

(8+4)


